AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

(check applica	able box) ERAL CANDIE	DATE	□ STAT	TE/LOCAL CA	ANDIDATE
	vail Themselv ow, Federal C				
Station at	nd Location: ゴMC/WA	DE/WKFX	RADIO V	o Laka Date √⊥ 3	/31/023
	Romaine	Quin			,
eing/on behal			P. 1	oniel Kel	The second second
arty for the of	date of the	202	10.43		political
n thelection to be h	general A	pril 4th	, 2023		
o hereby requ	est station time as i	follows:			
Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks
		1			
		EE A	TTAC	HED	
				34	
otal Charg	es:	\$ 1.98	30 00		

national importance," list the n		mmunicates a message	relating to any	political matter of
				+
				-
Y that the manner of fact	, the above decom	ilad buardaast tima ba	a kaon firmisha	d ben
I represent that the payment for		QUINN		
and you are authorized to annou I represent that this person or en committee/organization of the le	tity is either a le	gally qualified candida		ized
The name of the treasurer of the	candidate's auth	orized committee is:		
JEF	F PIER	0.45		
This station has disclosed to me and discount, promotional and ot				
THIS STATION DOES NOT I	AND A CALL DISCUSSION OF STREET			ON THE BASIS
To Be Signed By	Candidat	e or Authorize	d Commi	ttee
3/31/023	Ken	1 6		
Date		Signature		
To Be Sign	ed By Stat	tion Represent	tative	
Accepted	☐ Ac	cepted in Part		Rejected
	DA	UEW JENS	en V	P. SALET
Signature		Printed Name		Title

WJMC P.0. BOX 352 RICE LAKE, WI 54868 USA 715-234-2131

Order #:

9767-00014

Description:

FRIENDS OF JUSTICE DANIEL KELLY

Date Entered: 3/31/2023

P.O.#:

Salesperson: ACCOUNT, POLITICAL

Invoice Frequency: Billed at end of Cal/EOS, Sorted by Date

QUINN FOR SENATE 2769 13 1.2 AVENUE CAMERON, WI 54822

On-Air Schedule

	Start Date	End Date	Station	Scheduled	Time/Event	Repeated	Length	Qty	Rate	Total	M	Tu	W	Th	F	Sa	Su
1	4/1/2023	4/4/2023	WJMC-FM	06:00:00	to 10:00:00	Weekly	:30	12	12.50	150.00	4	4	0	0	0	4	0
2	4/1/2023	4/4/2023	WJMC-FM	10:00:00	to 15:00:00	Weekly	:30	12	12.50	150.00	4	4	0	0	0	4	0
3	4/1/2023	4/4/2023	WJMC-FM	15:00:00	to 19:00:00	Weekly	:30	12	12.50	150.00	4	4	0	0	0	4	0

Order Start Date: 4/1/2023

Order End Date: 4/4/2023

Spots: 36

Total Charges:

\$450.00

Projected Calendar Month/End-Of-Schedule Billing Totals for QUINN FOR SENATE / 9767-00014:

Spot Count

Net Billing

April

2023

36

\$450.00

Confirmed & Accepted for WJMC By:

WJMC P.0. BOX 352 RICE LAKE, WI 54868 USA 715-234-2131

Order #:

9767-00015

Description: FRIENDS OF JUSTICE DANIEL KELLY

Date Entered: 3/31/2023

P.O.#:

Salesperson:

ACCOUNT, POLITICAL

Invoice Frequency: Billed at end of Cal/EOS, Sorted by Date

QUINN FOR SENATE 2769 13 1.2 AVENUE CAMERON, WI 54822

On-Air Schedule

	Start Date	End Date	Station	Scheduled	Ti	ne/Event	Repeated	Length	Oty	Rate	Total	M	Tu	W	Th	F	Sa	Su
1	4/1/2023	4/4/2023	WJMC-AM	06:00:00	to	10:00:00	Weekly	:30	12	12.50	150.00	4	4	0	0	0	4	0
2	4/1/2023	4/4/2023	WJMC-AM	10:00:00	to	15:00:00	Weekly	:30	12	12.50	150.00	4	4	0	0	0	4	0
3	4/1/2023	4/4/2023	WJMC-AM	15:00:00	to	19:00:00	Weekly	:30	12	12.50	150.00	4	4	п	0	0	4	0

Order Start Date: 4/1/2023

Order End Date: 4/4/2023

Spots: 36

Total Charges:

\$450.00

Projected Calendar Month/End-Of-Schedule Billing Totals for QUINN FOR SENATE / 9767-00015 :

36

Spot Count

Net Billing

April 2023

\$450.00

Confirmed & Accepted for WJMC By:

WAQE 1859 21ST AVE. P.O. BOX 703 RICE LAKE, WI 54868 USA 715-234-9059

Order #:

9767-00012

Description: FRIENDS OF JUSTICE DANIEL KELLY

Date Entered: 3/31/2023

P.O.#:

Salesperson: ACCOUNT, POLITICAL

Invoice Frequency: Billed at end of Cal/EOS, Sorted by Date

QUINN FOR SENATE 2769 13 1.2 AVENUE CAMERON, WI 54822

On-Air Schedule

	Start Date	End Date	Station	Scheduled	I Tim	e/Event	Repeated	Length	Oty	Rate	Total	M	Tu	W	Th	E	Sa	Su	T
1	4/1/2023	4/4/2023	WAQE-FM	06:00:00	to	10:00:00	Weekly	:30	12	9.75	117.00	4	4	0	0	0	4	0	
2	4/1/2023	4/4/2023	WAQE-FM	10:00:00	to	15:00:00	Weekly	:30	12	9.75	117.00	4	4	0	0	0	4	0	
3	4/1/2023	4/4/2023	WAQE-FM	15:00:00	to	19:00:00	Weekly	:30	12	9.75	117.00	4	4	0	0	D	4	0	

Order Start Date: 4/1/2023

Order End Date: 4/4/2023

Spots: 36

Total Charges:

\$351.00

Projected Calendar Month/End-Of-Schedule Billing Totals for QUINN FOR SENATE / 9767-00012:

Spot Count

Net Billing

April

2023

36

\$351.00

Confirmed & Accepted for WAQE By:

WAQE 1859 21ST AVE. P.O. BOX 703 RICE LAKE, WI 54868 USA 715-234-9059

Order #:

9767-00013

Description: FRIENDS OF JUSTICE DANIEL KELLY

Date Entered: 3/31/2023

P.O.#:

Salesperson:

ACCOUNT, POLITICAL

Invoice Frequency: Billed at end of Cal/EOS, Sorted by Date

QUINN FOR SENATE 2769 13 1.2 AVENUE CAMERON, WI 54822

On-Air Schedule

	Start Date	End Date	Station	Scheduled	Tim	ie/Event	Repeated	Length	Qty	Rate	Total	M	Tu	W	Th	F	Sa	Su
1	4/1/2023	4/4/2023	WAQE-AM	06:00:00	to	10:00:00	Weekly	:30	12	9.75	117.00	4	4	0	0	0	4	0
2	4/1/2023	4/4/2023	WAQE-AM	10:00:00	to	15:00:00	Weekly	:30	12	9.75	117.00	4	4	0	0	0	4	0
3	4/1/2023	4/4/2023	WAQE-AM	15:00:00	to	19:00:00	Weekly	:30	12	9.75	117.00	4	4	0	0	0	4	n

Order Start Date: 4/1/2023

Order End Date: 4/4/2023

Spots: 36

Total Charges:

\$351.00

Projected Calendar Month/End-Of-Schedule Billing Totals for QUINN FOR SENATE / 9767-00013:

Spot Count

Net Billing

April

2023

36

\$351.00

Confirmed & Accepted for WAQE By:

WKFX P.O. BOX 352 RICE LAKE, WI 54868 USA 715-736-9910

Order #:

9767-00016

Description: FRIENDS OF JUSTICE DANIEL KELLY

Date Entered: 3/31/2023

P.O.#:

Salesperson

ACCOUNT, POLITICAL

Invoice Frequency: Billed at end of Cal/EOS, Sorted by Date

QUINN FOR SENATE 2769 13 1.2 AVENUE CAMERON, WI 54822

On-Air Schedule

1	Start Date	End Date	Station	Scheduled	Tim	e/Eyent	Repeated	Length	Oty	Rate	Total	M	Tu	W	Th	F	Sa	Su
1	4/1/2023	4/4/2023	WKFX-FM	06:00:00	to	10:00:00	Weekly	:30	12	10.50	126.00							
2	4/1/2023	4/4/2023	WKFX-FM	10:00:00	to	15:00:00	Weekly	:30	12	10.50	126.00	4	4	0	0	0	4	0
3	4/1/2023	4/4/2023	WKFX-FM	15:00:00	to	19 00 00	Weekly	:30	12	10.50	126 00	4	4	0	D	n	4	

Order Start Date: 4/1/2023

Order End Date: 4/4/2023

Spots: 36

Total Charges:

\$378.00

Projected Calendar Month/End-Of-Schedule Billing Totals for QUINN FOR SENATE / 9767-00016:

Spot Count

Net Billing

April

2023

36

\$378.00

Confirmed & Accepted for WKFX By: